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Read carefully Passage A, Canal Holiday, in the Reading Booklet Insert and then answer Questions
1 and 2 on this Question Paper.

Question 1
Imagine you are Zelda’s husband, Bob.
Write a letter to your brother who lives abroad telling him about your holiday.
In your letter you should comment on:
e your expectations of the trip
» your feelings about Zelda’s behaviour on the first two days of the holiday

» what happened during the rest of the trip.

Base your letter on what you have read in Passage A, but be careful to use your own words.
Address each of the three bullet points.

Begin your letter: ‘Dear Brian, We've just come back from a trip | arranged for Zelda as a surprise...".
Write about 250 to 350 words.

Up to 15 marks are available for the content of your answer, and up to 5 marks for the
quality of your writing.
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Question 2
Re-read the descriptions of:
(a) the storm and its effects in paragraph 6, beginning ‘No sooner were we inside...’;
(b) what Zelda enjoys about the morning in paragraph 7, beginning ‘Having only managed...".

Select four powerful words or phrases from each paragraph. Your choices should include imagery.
Explain how each word or phrase selected is used effectively in the context.

Write about 200 to 300 words.

Up to 10 marks are available for the content of your answer.
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Read carefully Passage B, The Panama Canal, in the Reading Booklet Insert and then answer
Questions 3(a) and 3(b) on this Question Paper.

Question 3
Answer the questions in the order set.
(@) Notes

What were the challenges faced during the entire construction of the Panama Canal,
according to Passage B?

Write your answer using short notes. Write one point per line.
You do not need to use your own words.

Up to 15 marks are available for the content of your answer.

The challenges faced during the entire construction of the Panama Canal:

[Total: 15]
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(b) Summary

Now use your notes to write a summary of what Passage B tells you about the challenges
faced during the entire construction of the Panama Canal.

You must use continuous writing (not note form) and use your own words as far as
possible.

Your summary should include all 15 of your points in Question 3(a) and must be 200 to 250
words.

Up to 5 marks are available for the quality of your writing.
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[Total: 5]
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Part 1
Read Passage A carefully, and then answer Questions 1 and 2 on the Question Paper.
Passage A: Canal Holiday
Zelda and her husband, Bob, begin a week’s holiday on a narrowboat.

All I want from a holiday is a 5-star hotel, glitzy shops and top-class entertainment. When Bob
announced a surprise ‘treat’ — a week on a canal boat in the country — | was taken aback. He declared
that peace and quiet would do us good: | didn’t think so.

We must have been the last people to take over a boat that Saturday. It took an age to decant everything
from the car into this tube with windows. The boatyard owner said it was both cosy and luxurious. What
nonsense! | need more than a shower and a microwave to feel pampered. Bob insisted that canal-
boating was a popular pastime; some famous acting couple owned a boat they kept on this canal. More
fool them. As I tried in vain to get a phone signal, | could hear the man telling Bob about ‘watering up’
and ‘approaching locks with care’ and ‘thrusting the tiller’ a particular way when reversing.

All this took too long. Bob kept plying the owner with questions. The old chap bemoaned various 21st
century changes: the old canal maintenance yard next door was no longer used for repairs to lock-
gates, instead housing some fancy artists’ studios; the town which gave its name to the canal allowed
modern music at its annual festival. Yawn. The light was fading, but there was no way | would spend our
first night in that smelly boatyard next to a diesel pump. | told Bob we must leave.

There was now a nasty breeze. ‘Isn't it bracing!” Bob declared as he neatly avoided colliding with a
passing canoeist. Then my darling enthusiastically pointed out a graceful spire a couple of fields away,
evidently of a church designed by a famous 19th century architect. Never mind the 19th century; | was
longing for a decent supper, but the engine had to be kept on tick-over as fishermen sat along the
towpath with fishing rods nearly touching the opposite bank. These were only lifted as our prow came
level with them. Bob kept giving matey greetings, unaffected by their blank stares.

Thank goodness we came upon a village after two hours. Earlier Bob had told me of a restaurant in the
area with a fine reputation. The village inn was certainly not in that league, though Bob did rave about his
fish and chips. When we stumbled out afterwards, | nearly tripped over. | just don’t understand how country
people manage without street lighting. While Bob was fiddling in the dark trying to find the key, a man
came past with several big dogs, none on leads. Now | have dirty paw marks all over my white trousers.

No sooner were we inside than there was this hammering on the roof, like machine gun fire. It was rain.
Then the wind rose, shrieking through the trees. The boat pitched at its mooring and | feared the ropes
would not hold. | made Bob go out and check the knots. Branches of trees on the opposite bank were
bent double, their leaves snatched from them and tossed into the air as if by a manic juggler. The canal
was an angry agitation.

Having only managed a few hours’ sleep, | was roused early by a crowing cockerel. | opened the
curtains to a transformation. The sun seemed to be smiling on the oak trees wearing their spring foliage
like new coats, and feathery clouds were dabbed across the pale blue sky. A little distance off a heron
stood motionless in the shallows with an air of grey, religious solemnity. Droplets of water hung from
flower stems like tiny translucent pearls. Suddenly, the heron’s head shot downward and he speared
a fish which wriggled in his beak. Attractive as it was, | would have appreciated the sight more had |
enjoyed eight hours’ sleep.

Later as we were unravelling knots in the mooring ropes, our ears were assailed by a cacophony of
sounds. Round a corner came an unruly bunch of teenagers bearing clipboards, pushing and shoving
each other, and once even me, apparently conducting a survey for geography. So much for Bob’s
peace and quiet.

© UCLES 2015 0500/22/INSERT/M/J/15
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After several unsuccessful attempts, we manoeuvred away from the bank and headed further up the
canal. | stayed inside, but heard Bob exchanging pleasantries with passers-by. When we stopped for
coffee, he told me excitedly of a bird-watcher who claimed to have just spotted a lesser-ring-necked-
green-headed-flycatcher, or some such thing. ‘Maybe we’ll see one! he enthused. ‘Let's hope not;
| thought. ‘And this is only day two.

Part 2
Read Passage B carefully, and then answer Question 3 on the Question Paper.
Passage B: The Panama Canal

At the official opening of the Panama Canal in 1914, ships sailed under the banner, ‘The Land Divided:
The World United'.

A trip along the Panama Canal enables travellers to appreciate one of the greatest undertakings of all
time, marvelling at engineering feats that some regard as the eighth wonder of the world.

A Spanish explorer found the Panama Isthmus in 1513, at its narrowest point about 50 kilometres
wide, and 20 years later Charles | of Spain ordered a survey for a canal route. Then the only known
international trade route between the Atlantic and Pacific Oceans was the treacherous journey around
Cape Horn at the tip of South America.

More than three centuries later, the French began construction of a sea-level canal. However, there
were three major problems: engineering, sanitation and organisation. It was costly and difficult to
build a canal in the rain-soaked tropics through unstable mountains. Health risks in the mosquito-
infested Panamanian jungle, principally malaria and yellow fever, cost thousands of lives. Excavation
was conducted at such a steep angle that rain-induced landslides poured nearly as much material
into the canal as had been removed. In nine years 22,000 lives had been lost and the company was
bankrupt.

The US gained control and began working on a lock-based canal in 1904. Locks are water lifts,
compartments with entrance and exit gates. On this canal, locks were needed to raise and then lower
ships from sea level at both the Pacific and the Atlantic ends. It took a long time and many thousands
of dollars to excavate these, as well as all the necessary cuttings. Railways had to be built to access all
these different parts of the route.

Organisational problems were solved by using experienced army personnel as managers. A far-sighted
sanitation officer saw the link between mosquitoes and disease. Ponds and swamps had to be drained,
fumigation, mosquito netting and decent living quarters introduced. Up to 50,000 workers at a time
carved through 82 kilometres of earth and granite. Industrialisation also provided advanced machinery
for digging, and constructing the giant sets of locks. The gates at the Pacific end had to be 25 metres
high to allow for the extreme tidal variation of that ocean. The Americans spent $387 million on the
project.

At the Atlantic end of the Canal is the huge 2.5 kilometres long Gatun Dam, the largest built at that
time, which holds water back in Gatun Lake, 26 metres above sea level. This lake was the largest man-
made lake in the world, and islands in it are actually the tops of mountains that were not flooded. Water
for the locks is taken from the lake by opening and closing gates and valves. Gravity propels the water
from the lake. The Gatun Dam also generates the electricity to run the motors which operate the Canal
as well as the locomotives in charge of towing ships through the locks. Thus, the Panama Canal is
self-sufficient.

Having passed through the Lake, ships arrive at the Culebra Cut, a 13 kilometres long excavated gorge
through a mountain. This was probably the most challenging section of the entire project. Workers
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laboured in extraordinarily high temperatures with drills, steam shovels and dynamite to shift vast
guantities of material. Mud slides were common — one continued for years — pouring back millions of
cubic yards into the excavation. The Cut was originally only 90 metres wide and, even with constant
dredging, was insufficient to take modern ships. In the early 1970s, its width was increased by about
50%, and more recently the Canal Authority completed the monumental task of increasing the width to
192 metres in places.

The canal is 80 kilometres long and voyages take approximately nine hours. Ships sailing from New York
to San Francisco through the Canal versus around Cape Horn save approximately 12,875 kilometres.
A vessel carrying bananas from Ecuador to Europe saves around 8,046 kilometres. A key route wanted
in the 1500s is still vital to world trade in the 21st century.

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every reasonable
effort has been made by the publisher (UCLES) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the publisher will
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Question 1
This question tests reading assessment objectives R1 to R3 (15 marks)

R1 demonstrate understanding of explicit meanings
R2 demonstrate understanding of implicit meanings and attitudes
R3 analyse, evaluate and develop facts, ideas and opinions

and writing assessment objectives W1 to W4 (5 marks)

W1 articulate experience and express what is thought, felt and imagined
W2 sequence facts, ideas and opinions

W3 use a range of appropriate vocabulary

W4 use register appropriate to audience and context

Imagine you are Zelda’s husband, Bob. Write a letter to your brother who lives abroad, telling
him about your vacation.

In your letter you should comment on:

e your expectations of the trip

e your feelings about Zelda’s behaviour on the first two days of the holiday

e what happened during the rest of the trip.
Base your letter on what you have read in Passage A, but be careful to use your own words.
Address each of the three bullet points.

Begin letter: ‘Dear Brian, We’ve just come back from a trip | arranged for Zelda as a
surprise...’.

Write about 250 to 350 words.

Up to 15 marks are available for the content of your answer, and up to 5 marks for the quality
of your writing.

[20]

General notes:

Candidates should select ideas from the passage (see below) and develop them relevantly,
supporting what they write with details from the passage and judging the appropriate register for the
genre which is a letter to a relative. Look for a clear and balanced response which covers the three
areas of the question, is well sequenced, and is in the candidate’s own words.

Annotate Al for references to Bob’s expectations of the trip

Annotate A2 for references to Bob’s feelings about Zelda’'s behaviour
Annotate A3 for references to what happened in the rest of the trip.

© Cambridge International Examinations 2015
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Responses might use the following ideas:

Al: Trip and Bob’s expectations
Reward an idea related to:

e TREAT to go on a canal boat det. popular pastime, famous acting couple own a boat dev.
expected it to appeal to Zelda if celebrities did it

e PEACE and QUIET det. no glitzy shops / hotels dev. need to relax / calm down a bit / enjoy
contrast with city / enjoy nature and/or wildlife

¢ HANDS ON det. tilling up, thrusting the tiller dev. keen to learn technicalities

e COSY/LUXURIOUS / WELL-EQUIPPED boat det. microwave, shower dev. fun, like luxury
camping

e HISTORY canals, old buildings / area det.name of town dev. nostalgia, get back to old days

e MEET PEOPLE det. fishermen / boatyard owner dev. sense of camaraderie with other river users

e FOOD good en-route det. restaurant with fine reputation

A2: Zelda’s behaviour and Bob’s feelings about
Reward an idea related to:

e |IDEA / PLAN for trip in first place det. taken aback, prefers hotels, didn't want to steer dev.
disappointed / thought she’'d have liked a change / might have known she wouldn’t like it

e PACKING det. lots to transfer from car to boat / moaned about time taken dev. defence of it
(need to be well equipped) or criticism of amount if possessions are mostly Zelda'’s

e FACILITIES det. nonsense, wanted more / more luxurious / trying to get a phone signal dev.
meant to be relaxing holiday not on phone

e BOATYARD insisted on leaving / wouldn’t spend night in boatyard det. moaned re smell / bored
(yawn) by details of town and lock gates / disinterested in local architecture dev. disappointed at
her reaction

e CHURCH det. famous 19th Century architect

e WEATHER det. nasty breeze, storm keeping her awake

e COUNTRY LIFE det. inn food not up to her standards, lack of street lighting dev. never
satisfied (det. he loved the fish and chips) dev. more of a townie than a country person

e CLOTHES det. wearing white trousers, paw prints from dogs dev. unsuitable attire/ over
concerned with appearances / no need to dress up

e SCENERY det. heron, oak trees, complained re cockerel dev. hope she is beginning to
soften possibly / disappointed she’s not appreciating it fully

e PEOPLE det. unruly teenagers, anglers, canoeist dev. judgemental / not sociable

(Point = what Zelda did / how she reacted in relation to each idea; det. in support dev. = Bob’s
feelings / reactions to that )

A3: What happened during the rest of the trip
Reward ideas related to:

e ENGAGING with OTHER PEOPLE e.g. met the famous theatrical couple dev. Zelda
impressed by that / arguments with other river users e.g. canoeists or fishermen due to
inexperience

e AREA visited nearby buildings of architectural interest, e.g. church, attended the annual music
festival

e SHOPPING e.g. purchases in / visited artists’ studios

e MEALS e.g. found the restaurant with a fine reputation

e WILDLIFE / SCENERY, e.g. saw lesser-ring-necked flycatcher
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e RIVER-related activities e.g. tried fishing, canoeing, or persuaded Zelda to steer

e WEATHER continued to improve (or if negative and cutting it all off another storm)

e ACCIDENT det. Bob not an expert — had one narrow miss with canoeist dev. connected to a lock
/ engine / ran into another river user

e ABANDON the boat trip e.g. go home or to hotel

Ideas and opinions must be derived from the passage, developing the implications e.qg. trip cut short
/| Zelda did relax a little and enjoy it (grudgingly).

Note 1. Overall, feelings (inferred) from Bob will depend on a candidate’s interpretation of Bob e.g.
he might be a deluded optimist, a self-righteous man, or a realist who has come to terms with his
mistake in booking the holiday.

Marking Criteria for Question 1

A: CONTENT (EXTENDED TIER)
Use the following table to give a mark out of 15.

Band 1: The response reveals a thorough reading of the passage. Developed ideas are

13¢15 sustained and well related to the passage. A wide range of ideas is applied. There is
supporting detail throughout, which is well integrated into the response, contributing to
a strong sense of purpose and approach. All three bullets are well covered. A
consistent and convincing voice is used.

Band 2: The response demonstrates a competent reading of the passage. A good range of

10¢12 ideas is evident. Some ideas are developed, but the ability to sustain them may not be
consistent. There is frequent, helpful supporting detail, contributing to a clear sense of
purpose. All three bullets are covered. An appropriate voice is used.

Band 3: The passage has been read reasonably well. A range of straightforward ideas is

7¢9 offered. Opportunities for development are rarely taken. Supporting detail is present
but there may be some mechanical use of the passage. There is uneven focus on the
bullets. The voice is plain.

Band 4: There is some evidence of general understanding of the main ideas, although the

4¢6 response may be thin or in places lack focus on the passage or the question. Some
brief, straightforward reference to the passage is made .There may be some reliance
on lifting from the text. One of the bullets may not be addressed. The voice might be
inappropriate.

Band 5: The response is either very general, with little reference to the passage, or a

1¢3 reproduction of sections of the original. Content is either insubstantial or unselective.
There is little realisation of the need to modify material from the passage.

Band 6: 0 There is little or no relevance to the question or to the passage.
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B: QUALITY OF WRITING: STRUCTURE AND ORDER, STYLE OF LANGUAGE (EXTENDED

TIER)

Use the following table to give a mark out of 5.

Band 1

The language of the response sounds convincing and consistently
appropriate. Ideas are firmly expressed in a wide range of effective and/or
interesting language. Structure and sequence are sound throughout.

Band 2

Language is mostly fluent and there is clarity of expression. There is a
sufficient range of vocabulary to express ideas with subtlety and precision.
The response is mainly well structured and well sequenced.

Band 3

Language is clear but comparatively plain and/or factual, expressing little
opinion. Ideas are rarely extended, but explanations are adequate. Some
sections are quite well sequenced but there may be flaws in structure.

Band 4

There may be some awkwardness of expression and some inconsistency
of style. Language is too limited to express shades of meaning. There is
structural weakness and there may be some copying from the passage.

Band 5

Expression and structure lacks clarity. Language is weak and undeveloped.
There is very little attempt to explain ideas. There may be frequent copying
from the original.

Band 6

The response cannot be understood.
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Question 2
This question tests Reading Objective R4 (10 marks):

R4 demonstrate understanding of how writers achieve effects

Re-read the descriptions of:

(@) the storm and its effects in paragraph 6, beginning ‘No sooner were we inside...’;
(b) what Zelda enjoyed about the morning in paragraph 7, beginning ‘Having only managed...’.

Select four powerful words or phrases from each paragraph. Your choices should include imagery.
Explain how each word or phrase selected is used effectively in the context.

Write about 200 to 300 words.
Up to 10 marks are available for the content of your answer,
[10]

General notes

This question is marked for the ability to select powerful or unusual words and for an understanding of
ways in which the language is effective. Expect responses to provide words that carry connotations
additional to general meaning.

Mark holistically for the overall quality of the response, not for the number of words chosen, bearing in
mind that there should be a range of choices to demonstrate an understanding of how language works
for the higher bands, and that this should include the ability to explain images. It is the quality of the
analysis that attracts marks. Do not take marks off for inaccurate statements; simply ignore them.

The following notes are a guide to what good responses might say about the selections. They can
make any sensible comment, but only credit those that are relevant to the correct meanings of the
words in the context and that have some validity. Alternative acceptable explanations should be
credited. Credit comments on effects created by non-vocabulary choices such as grammar/syntax and
punctuation devices. They must be additional to comments on vocabulary.
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(@)

(b)

The storm and its effects
The general effect is of a ferocious storm, feeling of being under attack

hammering (image): the rain has the force of a metal implement which can alter the surface of
what it hits, potential for damage

like machine gun fire (image): destructive, continuous, loud, rapid sound of a weapon,
dangerous / would hurt a person who went outside

shrieking (image): personification — shrill, piercing noise as though the wind is in pain or angry,
sense of fear

bent double: extreme angle into which the branches have been forced, like a very old person,
suggests power of storm

snatched (image): the leaves have been taken by force, personifying the wind as a callous thief
tossed into the air: thrown up, careless action as if wilfully discarded

as if by a manic juggler (image): the leaves are whirling around crazily in all directions,
extremely fast, up into the air and then down again

an angry agitation (image): violent disturbance, the surface of the water is stirred up by the
force of the rain

What Zelda enjoys about the morning
The general effect is of an awe-inspiring scene

sun seemed to be smiling (image): the sun is warm and benevolent

wearing their spring foliage like new coats (image): the oaks covered with fresh green leaves,
like clothing worn ostentatiously/proudly

feathery clouds: light, wispy, delicate

dabbed (image): here and there, as though an artist has lightly marked the sky with the clouds
air of grey, religious solemnity (image): austere, sober, serious, an aura of formality, the grey
plumage is like the clothing worn by someone clerical/devout/spiritual

like tiny translucent pearls (image): the water droplets are small, round, shiny with light passing
through them, beautiful and precious

speared (image) sudden attack suggesting precision/violence

Only credit comments on stylistic effect where explicitly linked to choices.
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Marking Criteria for Question 2

Use the following table to give a mark out of 10 for Reading.

Band 1: Wide ranging discussion of language with some high quality comments that add

9-10 meaning and associations to words in both parts of the question, and demonstrate
the writer’s reasons for using them. Tackles imagery with some precision and
imagination. There is clear evidence that the candidate understands how language
works.

Band 2: Explanations are given of appropriately selected words and phrases, and effects

7-8 are identified in both parts of the question. Images are recognised as such and
the response goes some way to explaining them. There is some evidence that
the candidate understands how language works.

Band 3: A satisfactory attempt is made to identify appropriate words and phrases. The

5-6 response mostly gives meanings of words and any attempt to suggest and explain
effects is basic or very general. One half of the question may be better answered than
the other.

Band 4: The response provides a mixture of appropriate choices and words that communicate

34 less well. The response may correctly identify linguistic devices but not explain
why they are used. Explanations may be few, general, slight or only partially
effective. They may repeat the language of the original or do not refer to specific
words.

Band 5: The choice of words is sparse or rarely relevant. Any comments are inappropriate

1-2 and the response is very thin.

Band 6: The response does not relate to the question. Inappropriate words and phrases are

0 chosen or none are selected.

© Cambridge International Examinations 2015




Page 9 Mark Scheme Syllabus | Paper

Cambridge IGCSE — May/June 2015 0500 22

Question 3

This question tests reading assessment objectives R1, R2 and R5 (15 marks)

R1 demonstrate understanding of explicit meanings
R2 demonstrate understanding of implicit meanings and attitudes
R5 select for specific purposes

and writing assessment objectives W1 to W3 (5 marks)

W1 articulate experience and express what is thought, felt and imagined
W2 sequence facts, ideas and opinions
W3 use a range of appropriate vocabulary

@)

(b)

Notes

What were the challenges faced during the entire construction of the Panama Canal,
according to Passage B?
Write your answer using short notes. Write one point per line.

You do not need to use your own words.

Up to 15 marks are available for the content of your answer. [15]

Summary

Now use your notes to write a summary of what Passage B tells you about the challenges
faced during the entire construction of the Panama Canal.

You must use continuous writing (not note form) and use your own words as far as
possible.

Your summary should include all 15 of your points in Question 3(a) and must be 200 to
250 words.

Up to 5 marks are available for the quality of your answer. [5]
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Reading Content for Question 3(a)

Give 1 mark per point in 3(a) up to a maximum of 15.

Reward a point about:

engineering / difficult to build

sanitation / needed decent living quarters

organisation / lack of experience / had to use army to organise

health risk(s) / disease(s) (allow example malaria or yellow fever)

take action against mosquitoes (allow example fumigation, draining, netting)
rain-induced landslides were a problem / mudslides / steep angle

costly to build / bankrupted one company / Americans spent 387 million dollars
needed locks (to raise boats ) / water lifts / difference in sea level/lock-based canal
slow process / took a long time began in 1800s still building in 1970s

needed to be able to access different parts of routes / had to build railways for access
huge numbers of people involved / (up to) 50 000 workers (at a time)

vast quantities of earth to be excavated / dredged / 82 km of earth

extreme tidal variation of Pacific / need for 25 m high gates

had to construct a (huge) dam/make a (huge) lake

Needed electricity / needed a power supply

extreme length of canal (allow, e.g. 80km long)

tropical weather / high temperature(s) / heavy rain

before industrialisation only basic tools / needed more advanced machinery

had to increase width to take modern ships

unstable mountains / cutting through mountains / cutting through granite / 13km long excavated

gorge

Notes:

Only one point per numbered bullet in an answer can be credited.

Additional incorrect information negates.

Credit responses in 3(a) which convey the essence of the point.

Although lifting of words and phrases from the passage is acceptable, candidates should show
evidence of understanding and selection by clearly focusing on the key details.

Over-lengthy lifting (e.g. of whole sections containing a humber of points) should not be credited.

Where errors of grammar/spelling seriously affect the accuracy of an idea, the point should not be
awarded.
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Marking criteria for question 3(b)

B QUALITY OF WRITING: CONCISION, FOCUS AND WRITING IN OWN WORDS

Use the following table to give a mark out of 5.

Band 1

The response is well focused on the passage and the question. All
points are expressed clearly, concisely and fluently, and in the
candidate’s own words (where appropriate) throughout.

Band 2

Most points are made clearly and concisely. Own words (where
appropriate) are used consistently. The summary is mostly focused but
may have a redundant introduction or conclusion.

Band 3

There are some areas of conciseness. There may be occasional loss
of focus or clarity. Own words (where appropriate) are used for most of
the summary. Responses may be list-like or not well sequenced.

Band 4

The summary is sometimes focused, but it may include comment,
repetition, unnecessarily long explanation or lifted phrases.

Band 5

The summary is unfocused or wordy. It may be answered in the
wrong form (e.g. narrative, commentary, or as notes). There may be
frequent lifting of phrases and sentences.

Band 6

Excessive lifting; no focus. The response cannot be understood or
consists entirely of the words of the passage.
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Exercise 1

Read the following article about kite flying, and then answer the questions on the opposite page.

THE WORLD OF KITE FLYING

Kite flying is a popular hobby for children and adults. Kites are
named after a particular bird of prey, which is known for its graceful
movement in flight and its sudden turns and dives to change
direction. Kite flying has a long history and has been the subject of
many poems and stories for thousands of years.

SO MUCH VARIETY

Kites come in a huge variety of colours, shapes and sizes. The
shape of the kite is vital because it affects the height and speed
at which it flies. The flat kite is a traditional diamond shape and is
probably the best known type of kite. The box kite is made with
holes that trap the air, which means that it can fly at a greater
height in the sky. The top altitude records for kite flying are usually
held by large box kites. One of the newest designs, invented in
1963, is the ‘parafoil’ kite. It is shaped like a parachute, and is very
popular with sailors and canoeists because it is fast and flexible
when attached to the front of the boat.

THE FIRST KITES

No one knows exactly when the first kites were invented. It is generally thought that their origin
was in China about 2800 years ago. However, cave paintings found on Muna Island in Indonesia
show that basic kites may have been in existence for much longer, maybe even for 30000 years.
Early Chinese kites were used to measure distances, test the speed and direction of the wind,
and as a form of communication. The explorer, Marco Polo, probably introduced kites to Europe
around the end of the 13th century.

KITES TODAY

Today, people fly kites mostly as a hobby or for sport and aerial displays, and kite competitions are
taken very seriously by enthusiasts. Kites are also used to pull sledges across the snow and even
skaters across the ice. They do have more serious purposes: they have contributed to scientific
research into flight, and the way in which air and gravity affect planes and helicopters. They are
also useful in the world of work. In the South Sea Islands, for example, kites are important as a
fishing aid. Fishermen attach bait to the end of the kite to catch the fish.

DID YOU KNOW?

In Korea, many parents write the names and birth dates of their children on kites. In Japan, kites
are a traditional New Year's gift for children. In Australia, in 1893, the box kite was invented by
Lawrence Hargrave. He joined several box kites together in an attempt to develop a flying machine,
and was successful in flying about 5 metres off the ground.
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(&) Where do kites get their name from?

............................................................................................................................................... [1]
(b) Why is the shape of the kite so important?
............................................................................................................................................... [1]
(c) What makes the box kite fly higher?
............................................................................................................................................... [1]
(d) Why do water sport enthusiasts like using the parafoil kite?
............................................................................................................................................... [1]
(e) What discovery suggests that kites are much older than 2800 years?
............................................................................................................................................... [1]
() How were kites helpful in China? Give two details.
............................................................................................................................................... [1]
() What are the advantages of kites in very cold weather? Give two details.
............................................................................................................................................... [1]
(h) In which country are kites commonly given as presents?
............................................................................................................................................... [1]
(i) How did Lawrence Hargrave manage to fly?
............................................................................................................................................... [1]
[Total: 9]
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Exercise 2

Read the following article about the number of languages that have vanished over the years, and then
answer the questions on the opposite page.

LOST FOR WORDS - 500000 LANGUAGES DISAPPEARED

New research suggests that about half a million languages have existed since the first humans walked the
Earth, 160000 to 200000 years ago. However, this number has declined over the centuries because many
of the world’s languages have simply disappeared. The latest estimate is that there are 7000 languages
remaining in the world today, but many of these are under threat of dying out completely.

We now have the smallest number of different languages, with only about 20 recognised by the population
of the world in general. The vast majority of the remaining languages are spoken by tribal groups containing
only a few thousand people. One example of this is Papua New Guinea in South East Asia. It is a country
where you can find over 800 languages, which is an incredible 12 per cent of the total number of the world’s
languages. There are places in that country where you can find a new language spoken every three or four
kilometres.

One explanation for this extraordinary situation in Papua New Guinea is that the climate makes it easy
for small groups to grow their own food and survive independently. This means that more languages will
develop and remain. As a university professor says, “Different groups of people use language to mark out
their territories and draw boundaries. They also use it to distinguish themselves from other groups. They can
tell who is a member of the group and who isn’t”

Country USA NIGERIA NORTH KOREA PAPUA NEW GUINEA
Total number of 364 501 1 830
languages

Percentage of

. 45% 95% 0% 100%
indigenous languages

It is interesting to consider the reasons why some languages survive while others die out. It is not just a
matter of how difficult the language is to learn — English, for example, is well known for its difficult spelling
and pronunciation. Sometimes, the survival of a language is simply because the society that uses it is
successful, and this helps to maintain and spread the language more and more. How well the language
survives is also affected by the natural geographical features of a country, in particular, how easy it is to
travel within a country and to neighbouring countries.

There are no languages that are superior to others. There are just lucky ones, and the luckiest of them all is
English. The professor continues, “The most commonly spoken mother tongue is Mandarin. This is followed
by Spanish and then Hindi / Urdu, but these are largely spoken within one country or continent. English
is only the fourth most commonly spoken mother tongue, and yet it has become the leading international
means of communication.”

Although some animals use signs and sounds to communicate in a limited way with one another, only
humans can learn to use a language independently. There are some mysteries about languages that
scientists still have to solve. Humans are genetically programmed to learn languages, but no one knows
exactly how it works. Another mystery is when exactly humans first learnt to communicate through speech.
It is not possible to tell from fossil records when humans made the first sounds.

It is sad for the people who lose their language, because this leads to a loss of traditions and culture as well.
The university professor states, “Just as hundreds of thousands of languages have died out, so many more
will follow until we are left with just a few. English is most people’s second language across the entire world,
so English will probably be one of them, despite the fact that it is difficult to learn to pronounce.”

However, many people believe that the world will be a poorer place without the rich diversity of a wide range
of languages.
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(&) How many languages have there been since the first humans?

............................................................................................................................................... [1]
(b) Why is the number of existing languages likely to change?
............................................................................................................................................... [1]
(c) What is surprising about the languages in Papua New Guinea?
............................................................................................................................................... [1]
(d) In what ways are languages useful to different groups? Give two details.
............................................................................................................................................... [1]

(e) According to the diagram, which country has the second highest percentage of indigenous
languages and what exactly is the percentage?

............................................................................................................................................... [1]
(f)  Which factors are important in helping languages to survive? Give two details.
............................................................................................................................................... [2]
(@) Which mother tongue is the second most widely spoken?
............................................................................................................................................... [1]
(h) What are scientists still trying to discover about languages? Give two details.
............................................................................................................................................... [2]
(i) Why is it sad when a native language is lost?
............................................................................................................................................... [1]
(i) What do we learn from the article about the English language? Give four details.
............................................................................................................................................... [4]

[Total: 15]
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Exercise 3

Rosie Nelmes is in her final year at her school in Manchester, England, and will leave just after her 18th
birthday in two months’ time. She will then be old enough to become a volunteer in an organisation
which runs projects to help homeless people everywhere. The scheme is called Lifebuild and relies on
young volunteers to carry out its work around the world.

Rosie first heard about the projects from a talk given at her school by a representative of the
organisation. She has since visited their website www.globallifebuild.org and has noted some of the
key details. The minimum age for participation in the scheme is 18. Volunteers have to be prepared
to work for varying lengths of time up to six months and they have to pay for all their travel expenses.
Accommodation and food, however, are provided where they are volunteers. Rosie plans to pay for the
trip partly by working in a local shop and partly by using money given to her as a birthday present.

Volunteers may choose to work in one of the Lifebuild offices, processing the paperwork that each
project generates. Alternatively, they can work at the camp where other volunteers are based and
carry out tasks such as cooking, cleaning and basic repair jobs. Thirdly, they may choose to go into the
community and help with the building of housing and shelters for the homeless people. Rosie would
certainly prefer to do this part of the work.

Volunteers may choose to work in Africa, Asia or Europe. Rosie will not know the exact location until
after the interview, but her preference is for Asia. She is happy to travel as far as possible from the UK
because she wants to spend the maximum of six months working on the project.

Initially, Rosie is required to attend an information meeting. There are two possible dates for the
meeting, Thursday 10th July or Saturday 12th July, but because of her school commitments, she
would need to attend on the Saturday. Transport to the meeting is no problem because she lives at 37
Deansgate Road in Manchester, and this is only 20 minutes’ walk to the hotel where the meeting is
taking place. Her mother, Marianna Nelmes, is going to accompany her to the meeting as a guest so
that she is also fully informed about the projects. If Rosie likes what she hears at the meeting, then she
will have to complete an application form and submit it with her CV, then attend a formal interview. The
organisation can contact her on her phone (07973895224) or by email (rosperson2@yoodle.co.uk)

The first stage, however, is for Rosie to fill out an attendance form on the organisation’s website in
order to book for the information meeting.

Imagine you are Rosie. Fill in the attendance form on the opposite page, using the information
above.
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Lifebuild Project:
Meeting Attendance Form

Section A Personal details

U111 0= o 0= OO TP P PPPR
(0T oI To [o | (=T PSSP
o [ TSP PPPPRPPPPP
Gender: (please delete) MALE FEMALE

Contact details: phone ...............coeeeei, EMAl e

Section B Meeting details
Preferred date of MEELING: .....veiiiiii e e e e e e e e e e e e e e e e eeeeaaaaeaaaaas
Please reserve: (please circle one)

1 2 3 4 places at the meeting

Full name of guest(s) (if applicable): .........e e

Section C Additional details

If selected for the project, in which continent would you prefer to work?

Section D

In the space below, write one sentence of between 12 and 20 words about the tasks you would
prefer to do if selected.

[Total: 8]
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Exercise 4

Read the following article about Madame Tussauds, a museum which creates life-size figures made of
wax, and then complete the notes on the opposite page.

UHS%& () *NT) (L &+, (=)&)

There are only two hours to opening time at the Madame Tussauds Wax Museum in
London. The staff and the artistic team are busy examining the 200 wax models of
famous people exhibited there. One of the tasks of the team is to check each model
carefully every day for signs of damage. Most museums in the world have a strict ‘no
touch’ rule when it comes to their exhibits. At Madame Tussauds, however, visitors
don’t just stare at the lifelike figures; they are allowed to touch and even hug all the
wax celebrities on display.

“A traditional museum has ropes around the exhibits to protect what is on display, but
this is not our policy,” explains the general manager of Madame Tussauds. “This is the
nearest that a lot of people are going to get to a real life celebrity. We allow our visitors
to go up close as if they were personal friends.”

This policy does create problems, however, when there are
over one million visitors each year. The wax models become
scratched, dirty and sometimes worse. It is the task of the
artistic team to carry out all the necessary repairs to the
figures. This needs to be done quickly because everything must
be perfect every day at opening time. Most visitors probably '
don’t know how much they are damaging the figures, each of }J, %
which can cost over £100000. =

Charles Garossi, a wax artist, is examining the head of a famous film star. There are
scratches on the face, but Charles quickly sets to work. He mixes the oil paints that
he carries on a palette and brushes paint across the face. The problem is solved in
seconds. Moments later, he inspects the back of the neck of a well-known sports star.
There are some deep marks, caused by fingernails. It is a bigger job, and so he uses a
knife-like tool and some skin-coloured wax from his pocket to repair the damage. One
of the challenges for artists like Garossi is to work with a variety of tools.

Garossi can take a lump of wax and, within minutes, shape it into a human ear. Not
just any ear, but the uniquely shaped ear of the celebrity who lost it. For more extensive
repairs, like a head that has been knocked off onto the floor, the artists work in the
laboratory. This is a massive room, filled with the smells of oil paint and hair spray.
Wooden heads are lined up along a wall, some with wigs and others waiting for the
hairdresser to arrive, to create the latest style. Workbenches are covered with a mixture
of body parts — detached legs and arms — and torn clothes.

The artists at Madame Tussauds constantly have to study gossip magazines for the
latest photos of the celebrities, so that they can keep the figures’ clothes, hair and even
tattoos up to date. Everything is carried out in a traditional manner; the museum’s
policy is not to allow digital technology. As the hairdresser says, “I grew up watching my
mother styling my aunt’s hair in the kitchen - times have changed, but the techniques
are still the same.”
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You are going to give a talk about the Madame Tussauds museum to your school art club.
Prepare some notes to use as the basis for your talk.

Make your notes under each heading.

[Total: 9]
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Exercise 5

Read the following article about the increasing amount of artificial light that humans are creating. On
the opposite page, write a summary about the negative aspects of light pollution in our world.

Your summary should be about 100 words long (and no more than 120 words long). You should
use your own words as far as possible.

You will receive up to 6 marks for the content of your summary and up to 5 marks for the style and
accuracy of your language.

TURNING NIGHT INTO DAY

If humans were really comfortable under the light of the moon and stars, we would happily go around at
night without any artificial light. We would be able to see the world in the same way as the many species that
exist in darkness are able to see it. The fact is that we are daytime creatures, with eyes adapted to living in the
sunlight.

In order to create a longer day, even extending to 24 hours, we have lit up the night. We have changed it to
suit our purposes by filling the darkness with light. This kind of action disturbs human and natural life and
comes with disadvantages as well as benefits. By artificially increasing the amount of light in our world, we
have produced light pollution.

Light pollution is largely the result of bad lighting design, which allows
artificial light to shine outwards and upwards into the sky, where it is not
wanted, instead of focusing it downwards, where it is needed. Most of
us live in towns and suburbs, which suffer from too much light coming
from homes, offices, factories and roads. In these areas, we are often
unable to control the light that invades our homes and private lives.

In most cities, the sky looks as though it has been emptied of stars. Many
of us have grown up seeing nothing more than a hazy sky, and we have
never enjoyed the wonderful sight of a clear night sky, full of beautiful
stars.

Humans have selfishly lit up the night assuming that it had no effect on any living creature. Nothing could be
further from the truth. The number of species that are busy in the darkness is astonishing. By increasing the
amount of artificial light, we have confused and harmed many creatures. Some birds now sing at unnatural
hours in the presence of artificial light. Sea turtles, which much prefer dark beaches to build their nests, find
fewer and fewer suitable places.

Like most other creatures, we need darkness. It is as essential to our well-being as light itself. By reducing
the amount of darkness each day, we are upsetting the regular timing and rhythm of waking and sleeping.
This means that we rarely get enough sleep at the right time.

It was once thought that light pollution only affected astronomers, who needed to see the night sky in all its
glorious clarity. In fact, some of the earliest efforts to try and control light pollution, in Flagstaff, USA, were
made to protect the view from the Lowell Observatory, situated high above the city. In 2001, Flagstaff was
declared the first International Dark Sky City. Now, more and more cities and even whole countries have
committed themselves to reducing unwanted artificial light.

Finally, we must not ignore the amount of energy that is wasted throughout the world as a result of our desire
for extra light. It is arguable that, of all the different types of pollution, light pollution is perhaps the easiest to
reduce. Simple changes in lighting design and installation produce immediate changes in the amount of light
lost in the atmosphere and, often, provide immediate energy savings.
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Exercise 6

Free admission for one

You recently received a ticket for free entrance to an event in your city. You went to the event.
Write a letter to a friend about the event.
In your letter you should:

»  say how you got the ticket

» describe where you went and what happened at the event

e explain your feelings afterwards.

The pictures above may give you some ideas, and you should try to use some ideas of your own.
Your letter should be between 150 and 200 words long. Do not write an address.

You will receive up to 10 marks for the content of your letter, and up to 9 marks for the style and
accuracy of your language.

© UCLES 2014 0510/21/M/3/14



13

[Total: 19]

© UCLES 2014 0510/21/M/J/14 [Turn over



14

Exercise 7

Advertisements are everywhere around us. Are they a benefit or not?

Here are some comments from your friends on the subject:

“Advertising makes me want
things that | can't afford.”

N\

"Advertisements inform me
about the latest products.”

Write an article for your school magazine, giving your views.
The comments above may give you some ideas, and you should try to use some ideas of your own.
Your article should be between 150 and 200 words long.

You will receive up to 10 marks for the content of your article, and up to 9 marks for the style and
accuracy of your language.

© UCLES 2014 0510/21/M/3/14



15

[Total: 19]

© UCLES 2014 0510/21/MIJ/14



16

BLANK PAGE

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every
reasonable effort has been made by the publisher (UCLES) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the
publisher will be pleased to make amends at the earliest possible opportunity.

Cambridge International Examinations is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local
Examinations Syndicate (UCLES), which is itself a department of the University of Cambridge.

© UCLES 2014 0510/21/MIJ/14



CAMBRIDGE INTERNATIONAL EXAMINATIONS

International General Certificate of Secondary Education

MARK SCHEME for the May/June 2014 series

0510 ENGLISH AS A SECOND LANGUAGE
(ORAL ENDORSEMENT)

0510/21 Paper 2 (Reading and Writing — Extended),
maximum raw mark 90

This mark scheme is published as an aid to teachers and candidates, to indicate the requirements of
the examination. It shows the basis on which Examiners were instructed to award marks. It does not
indicate the details of the discussions that took place at an Examiners’ meeting before marking began,
which would have considered the acceptability of alternative answers.

Mark schemes should be read in conjunction with the question paper and the Principal Examiner
Report for Teachers.

Cambridge will not enter into discussions about these mark schemes.

Cambridge is publishing the mark schemes for the May/June 2014 series for most IGCSE, GCE
Advanced Level and Advanced Subsidiary Level components and some Ordinary Level components.

1.3 CAMBRIDGE

Y International Examinations




Page 2 Mark Scheme Syllabus

Paper

IGCSE — May/June 2014 0510

21

IGCSE English as a Second Language Extended tier Reading/Writing (Paper 2)

This component forms part of the Extended tier assessment of IGCSE English as a Second Language
and tests the following Assessment Objectives:

AO1: Readi

ng

R1 understand and respond to information presented in a variety of forms
R2 select and organise material relevant to specific purposes
R3 recognise, understand and distinguish between facts, ideas and opinions
R4 infer information from texts

AO2: Writing

W1 communicate clearly, accurately and appropriately

W2 convey information and express opinions effectively

W3 employ and control a variety of grammatical structures

W4  demonstrate knowledge and understanding of a range of appropriate vocabulary
W5 observe conventions of paragraphing, punctuation and spelling

W6 employ appropriate register/style

Overview of exercises on Paper 2

Reading Marks for Writing Marks for Total
objectives | reading objectives | writing available
tested objectives | tested objectives | marks
Exercise 1 | Reading (1) R1 9 - 9
Exercise 2 | Reading (2) R1 15 - 15
Exercise 3 | Information R1, R2 6 W1, W5 2 8
transfer
Exercise 4 | Note-making R1, R2, 9 - 9
R3
Exercise 5 | Summary R1, R2, 6 W1, W2, 5 11
R3 W3, W4,
W5
Exercise 6 | Writing (1) - W1, W2, 19 19
W3, W4,
W5, W6
Exercise 7 | Writing (2) - W1, W2, 19 19
W3, W4,
W5, W6
90
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Exercise 1 Kite flying

(a) bird of prey

(b) it affects the height and speed

(c) holes that trap the air

(d) fast and flexible

(e) cave paintings

(f) measure distances / test the wind speed and direction / communication

ANY TWO FROM THREE FOR ONE MARK

(9) pull sledges across the snow AND skaters across the ice

BOTH REQUIRED FOR ONE MARK

(h) Japan

(i) joined box kites

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

Max total for Exercise 1 : 9 marks
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Exercise 2 Lost for words
(a) half a million [1]
(b) under threat of dying [1]
(c) 12 per cent of the world’s languages / a new language spoken every three or four kilometres

(d)

(e)

()

(9)

(h)

(i)

)

/ 800 languages /800 of them [1]

mark out territories / draw boundaries
AND
distinguish themselves from others / tell who is a member

BOTH IDEAS REQUIRED FOR ONE MARK [1]
Nigeria AND 95 [1]
society is successful / natural geographical features /

how easy it is to travel within a country OR how easy it is to travel to neighbouring countries

ONE MARK FOR EACH DETAIL [2]
Spanish [1]
how humans are genetically programmed to learn languages

when humans learnt to communicate through speech

ONE MARK FOR EACH DETAIL [2]

loss of traditions and culture [1]

- difficult spelling /difficult pronunciation

e the fourth most commonly spoken mother tongue

* leading international means of communication

e most people’s second language

e the luckiest/will be one of the few left [4]

Max total for Exercise 2 : 15 marks
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Exercise 3 Lifebuild Project: Meeting Attendance Form

Section A Personal details

Full name Rosie Nelmes

Home address 37 Deansgate Road Manchester

Age 17

Gender DELETE MALE

Contact details: phone 07973895224 email rosperson2@yoodle.co.uk

Section B Meeting details
Preferred date of meeting:  12th July
Please reserve CIRCLE 2

Full name of guest(s) (if applicable) Marianna Nelmes

Section C Additional details
If selected for the project, in which continent would you prefer to work? Asia
For what length of time would you be available to work with the project? 6 months

How would you finance the travel costs? Work in a shop and money given as a present /
birthday money

Where did you hear about our organisation? Talk / school / representative

Max. total for Sections A, B and C: 6 marks
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Section D

In the space below, write one sentence of between 12 and 20 words about the tasks you would prefer
to do if selected.

The sentence must be written in the first person.

Example sentence:
I would like to help with the building of houses and shelters for the homeless people.

2 marks: no fewer than 12 and no more than 20 words; proper sentence construction; correct
spelling, punctuation and grammar; relevant to context.

1 mark: no fewer than 12 and no more than 20 words; proper sentence construction; 1-3 errors of
punctuation / spelling / grammar that do not obscure meaning; relevant to context.

0 marks: more than 3 errors of punctuation / spelling / grammar; and/or irrelevant to context, and/or

not a proper sentence; and/or fewer than 12 words or more than 20 words.

Absence of a full stop at the end should be considered as 1 punctuation error.
Absence of an upper case letter at the beginning should be considered as 1 punctuation error.
Omission of a word in a sentence should be considered as 1 grammar error.

Max total for exercise 3 : 8 marks
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Exercise 4 Madame Tussauds

Museum policies

1. visitors allowed to touch wax celebrities / visitors allowed to hug wax celebrities / allow visitors

to go up close to wax celebrities

2. noropes
3. no digital technology for repairs / repairs carried out in traditional manner

Tasks of the artistic team

check models each day

carry out repairs quickly

work with a variety of tools

replace body parts / shape ear / replace head / paint / repair scratches
study gossip magazines / study photos / keep figures up to date

© NG

Details of the laboratory

9. massive

10. smells of paint / smells of hair spray

11. wooden heads along the wall/ wooden heads lined up

12. workbenches with body parts/ workbenches with torn clothes

Max total for Exercise 4 : 9 marks
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Exercise 5 Turning night into day

Content: (up to 6 marks)

Negative aspects of light pollution

whN e

disturbs human and natural life
unable to control the light that invades homes / lives
grown up seeing nothing more than a hazy sky / we have never enjoyed a clear night sky / sky

emptied of stars

©CoNoOA

confused many creatures / harmed many creatures

birds sing at unnatural hours

sea turtles find fewer dark places to build nests

upsetting rhythm of waking and sleeping / rarely get enough sleep at the right time
affects astronomers

wastes energy

Language: (up to 5 marks)

0 marks:

1 mark:

2 marks:

3 marks:

4 marks:

5 marks:

no understanding of the task / no relevant content / meaning completely obscure due to
serious language inaccuracies

copying without discrimination from text / multiple language inaccuracies

heavy reliance on language from the text with no attempt to organise and sequence
points cohesively / limited language expression making meaning at times unclear

some reliance on language from the text, but with an attempt to organise and sequence
points cohesively / language satisfactory, but with some inaccuracies

good attempt to use own words and to organise and sequence points cohesively /
generally good control of language

good, concise summary style / very good attempt to use own words and to organise and
sequence points cohesively

Max total for Exercise 5 : 11 marks
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Exercise 6 Ticket for free entrance to an event

Exercise 7 Are adverts beneficial or not?

Scoris marking guidance

Transcribing the prompts with no original development by the candidate will limit both content and
language marks to the 2-3 band. However, if candidates also include some original ideas, higher
marks can be awarded.

The following general instructions, and table of marking criteria, apply to both exercises.

Award the answer a mark for content (C) [out of 10] and a mark for language (L) [out of 9] in
accordance with the General Criteria table that follows.

Content covers relevance (i.e. whether the piece fulfils the task and the awareness of
purpose/audience/register) and the development of ideas (i.e. the detail/explanation provided
and how enjoyabile it is to read).

Language covers style (i.e. complexity of vocabulary and sentence structure) and accuracy (of
grammar, spelling, punctuation and use of paragraphs).

When deciding on a mark for content or language, first of all decide which mark band is most
appropriate. There will not necessarily be an exact fit. Then decide between 2 marks within that
mark band. Use the lower mark if it only just makes it into the band and the upper mark if it fulfils
all the requirements of the band but doesn’t quite make it into the band above.

When deciding on a mark for content, look at both relevance and development of ideas. First
ask yourself whether the writing fulfils the task, in terms of points to be covered and the length. If
it does, it will be in at least the 4-5 mark band.

When deciding on a mark for language, look at both the style and the accuracy of the language.
A useful starting point would be first to determine whether errors intrude. If they do not, it will be
in at least the 4-5 mark band.

The use of paragraphs should not be the primary basis of deciding which mark band the work is
in. Look first at the language used and once you have decided on the appropriate mark band, you
can use the paragraphing as a factor in helping you to decide whether the work warrants the
upper or lower mark in the mark band.

If the essay is considerably shorter than the stated word length, the language mark is likely to
be affected and is unlikely to be more than one band higher than the content mark.

If the essay is totally irrelevant and has nothing to do with the question asked, it should be given
0 marks for Content and Language, even if it is enjoyable to read and fluent.

If the essay is partly relevant and therefore in mark band 2-3, the full range of marks for
language is available.

Max total for exercise 6: 19 marks
Max total for exercise 7: 19 marks

© Cambridge International Examinations 2014



Page 10

Mark Scheme

Syllabus Paper

IGCSE — May/June 2014

0510 21

GENERAL CRITERIA FOR MARKING EXERCISES 6 and 7 (Extended tier)

Mark | CONTENT: relevance and Mark | LANGUAGE: style and accuracy
band | development of ideas band | (AO: W1, W3, W4, W5)
(AO: W1, W2, W6)
8-9-10 | Highly effective: 8-9 | Precise:
Relevance: Style:

Fulfils the task, with consistently
appropriate register and excellent sense
of purpose and audience.

Award 10 marks.

Fulfils the task, with consistently
appropriate register and very good
sense of purpose and audience.
Award 8/9 marks.

Development of ideas:

Original, well-developed ideas. Quality is
sustained. Outstanding.

Award 10 marks.

Shows some independence of thought.
Ideas are well developed, at appropriate
length and convincing. The interest of
the reader is sustained.

Award 9 marks.

Ideas are well developed and at
appropriate length. Enjoyable to read.
Award 8 marks.

Ease of style. Confident and wide-
ranging use of language, idiom and
tenses.

Award 9 marks.

A range of language, idiom and tenses.
Award 8 marks.

Accuracy:
Well-constructed and linked paragraphs
with very few errors of any kind.
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Mark | CONTENT: relevance and Mark | LANGUAGE: style and accuracy
band | development of ideas band | (AO: W1, W3, W4, W5)
(AO: W1, W2, W6)
2-3 Partly relevant: 2-3 | Errors intrude:
Relevance: Style:
Partly relevant and some engagement Simple structures and vocabulary.
with the task. Inappropriate register,
showing insufficient awareness of Accuracy:
purpose and / or audience. Meaning is sometimes in doubt.
Award 3 marks. Frequent errors do not seriously impair
communication.
Partly relevant and limited engagement Award 3 marks.
with the task. Inappropriate register,
showing insufficient awareness of Meaning is often in doubt. Frequent,
purpose and / or audience. distracting errors which slow down
Award 2 marks. reading.
Award 2 marks.
Development of ideas:
Supplies some detail but the effect is
incomplete and repetitive.
0-1 Little relevance: 0-1 | Hard to understand:

Very limited engagement with task, but
this is mostly hidden by density of error.
Award 1 mark.

No engagement with the task or any
engagement with task is completely
hidden by density of error.

Award 0 marks.

If essay is completely irrelevant, no mark
can be given for language.

Multiple types of error in grammar /
spelling / word usage / punctuation
throughout, which mostly make it difficult
to understand. Occasionally, sense can
be deciphered.

Award 1 mark.

Density of error completely obscures
meaning. Whole sections impossible to
recognise as pieces of English writing.
Award 0 marks.
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